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(1) E@hfase(v) UTHOERRKICEY v =38 %
(2)BLE A (m)

a1= o = 1.191

1= 100
m= a1 X SL = 1.191 X 27 = 32.2 N/m’
FoT m = 32.2 N/mf

(3)YKEAVFHEW/C)

-18.5 + 27.9 X C/W

wW/C 27.9 + (32.2 + 18.5) X 100 = 55 % < lsg%u:l%&ﬁ)) y
“W/C = %
(4) HATKE (W) YTHEOERIC cto W = 170 kg/m
(5)HfrE A FE(C) C =W = (W/C) X 100 = 170 = 55 X 100 = 309 kg/m
Cv= C <~ B = 309 ~ 3.04 = 102 2 /m
(6) 758 (A) A = 4.5 % X 1000 = 45 £ /m
(7)MEME(s/a) %Ib%w;%ffﬁ& YU s/a = 471.6 %
(8)HLTHIEME(S) Sv = (1000 — (WH+Cv+A)) X s/a = 683 X 47.6 % = 325 2/m
Slv = Sv X 80.0 % = 260 #/m S1= SIvXEEEE = 260 X 2.59 = 673 kg/mi
S2v = Sv X 20.0 % = 65 2 /m S2= SovXKEEE = 65 X 3.50 = 228 kg/mi
(9) BATHEME(G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 642 = 358 2 /m
G = Gv X REEBE = 358 X 2.70 = 967 kg/mi
(10) BrEFAIE (ADAdL = C X BT X FE = 309 X 0.550 % X 1.00 = 1.70 ke/m
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